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I 23 mwn: status of DWR NN and its MToN — for all generations; and of N9»1 171793/ 1MNY DWR (dispute mentioned twice)
a  p’7. graze, money goes to 71X nam
b 58 /3. they die
c Y p3) oN 1. graze, money used for Mm%y (in case of YY1 11973/ MNY DWR, bring NYY)
I 7 mwn: Clarification of difference between ©non and YR "7 —if T %Y or Max (nam) Ky
a (Y58 ") T nbw requires N2'no, he brings his own oo (required); if he is 103, he gets the nTay and pelt
b (o2051) 1m2¥ N5 no n2nY, D7V come from public fund; ‘tho he be a 113, the nTay and pelt go to Mmwn "R
i Justification for double mention of dispute: if we only heard about n5»1 11972/ /mMnw DWR, we would have thought that x™
says they must die if found n193 »19% as a precaution against finding it after n193, which doesn’t apply to nnn
1 And if: we only learned about nwx n7nn, we would think that n'non would agree in case of 11929 DwR — 5"np
ii 77 this dispute about NN 191 is after n193; before N9, all agree that it may be brought
1 ~27 (1) cannot get N3 via an nvay ("nn) and (2) we supported 92, that 2w 19 (::nmn 15) isn’t offered
iii ~Rather: 1™ - dispute is only after N9, beforehand, all agree that it is offered as noy
1 Challenge: 5"a's ruling that only pwxy 751 is offered — Xwp
iv. Question (asked of X373 72 pan 77): if he designated a female for an DWY, can its 791 be brought as n%1y?
1 (Challenge: n"an already ruled that X" agrees that WX nmnn 75 cannot be brought as n%y
2 Answer: the questioner hadn’t heard n”2»7’s ruling)
3 Answer: 79M may be brought as n%y
(a) Challenge: X" only ruled 0% napi 751 is brought as mother has "%y bw — not DWXR NN ™
(b) Defense: 8"’s reason isn’t 1R oW — rather, because the 790 is fit for n17pn (male) — same in our case
(i) Challenge: our mwn — offspring (in perpetuity) — sell and bring n%y (but not brought themselves as n%)
(if) Answer: (unlikely though it may be...) if all offspring were female
I n nwn: singularity of 9wyn 1121
a  Ampn 15m anom treated like 9wWyn 1101 - eaten after they get onn (1131 - by 113; 2”vn — by owner) (but not offered)
i Question from »’&: about making a o in 132 nnn or a #9/10 switch in 2”yn — if he is NP (vv. 1-2)
1 Versionl: asked about 7192 n7n — since it is W17, culpable; or since it isn’t 29p — exempt
(a) Answer (7aK): just like 9/10 switch — since not 29p, no mpYn (per »wy —v. 1)
2 Version2: asked about 9/10 switch and »ar answered from 1191 n1mn; since not offered — no Man (on YVIp — v. 2)
avnw: o4 all other mn *ya are sold and slaughtered/weighed in market place — but not 7wym 112
7774 all other 0n *5y2 may be redeemed — but not Twym 1122
pans pirr: all other n1119p may come from 5, not MWYM M2
But if: they come from 5"n as onnn, are offered; if n”ya, eaten by owners
i Challenge: ®>:7 nbn — M1 rejected when brought from 5"
ii  Answer: that follows »™'s ruling; our mwn is per Y8ynw’ "1 (both found in n:3 17770 RNAVIN)
1 Snypws 1 interprets v. 3 to learn that w”yn cannot be eaten r"nnra (parallel to w”yn)
(a) After: finding that he couldn’t prove it via aR 111 from 7132 or 011371, even with 780 na (both have nam 1)
(b) Note: unclear if » holds about n1wRY nVYTP
(i) If: he holds that it is eternal, then answer should be that both could be brought "nnra
(if) If: he holds that it was terminated, let him ask about 1122 as well
(iii) Answer: he holds that 1”p was temporary; case where 1132 was vnwi and then wTpn was destroyed
1. Since: 07 could no longer be pa1), we infer o1 >7w1 2>v"Yn and can’t be eaten
a. challenge: we may not learn infer in sequence in wTp (per 11Ny ")
b. answer: v"yn is PN
c.  Block: that only works if focus is on target (Tn5); if it is on source (Tn%n) — no answer
i.  Defense: o1 and 71 are a single unit — not a sequenced inference

o an o

© Yitzchak Etshalom 2012 18 www.dafyomivicc.org




WD TIYRIVT YIRS 77N noon M AT TINOY Y UpT

2y’ using v. 3, compares W"yn to MMI3; just as 3T 1PN is only from X, so too MM21 may only come from "R
3 Nz using v. 3, compares v”pn to M1 and disallows eating w”yn from visual access to 5w ("R¥IN 933)
(a) Ewven though: couldn’t infer from ar 111 from 7133, as 7121 has nam ¥
(b) Rather: must be inside of city
(c) In spite of: rule at n9>w, which allows nx1n Y32
4 prinx: using v. 3, reject notion that 7122 should be invalid after a year, just as 9wyn isn’t invalidated nnaan% nwn
(a) Question: »nan, who use v. 3 for other interpretations (as above) — what is their source for nnaan% nwn?
(i) Answer: from v. 4 (MY MVY)
(if) D77nN:use v. 4 to teach that 1121 is eaten for 2 days (“during two years”, 1 day at end of year and 1 day
at beginning of next year)
1. 7237 infer that rule from v. 5 — 11 is treated like P11 Nt of ©NYW — 2 days and intervening night
w7 reason for that distinction — 9wym 131 have a “local” solution (graze ‘til Dn)
Whereas: other nw1p, even if they get a b, maintain sanctity (must be redeemed)
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